Crypto Puzzles - Hard

1 What did the Sheriff of Nottingham say when Robin fired at him?
) Sl
ue:11=a
6-8-11-6  4-11-5 11-1 11-9-9-2-4 7-5-10-11-3-7

p, Why did the teacher become cross-eyed?
) e s
ue:6=|

3-11-1 13-5-7-6-2-9' 12 13-5-9-12-8-5-6 11-1-8  10-7-10-4-6-3

3) Why did the chicken cross the basketball court?
Clue:2=r
14-4 14-4-12-2-8 13-14-4 2-4-9-4-2-4-4 5-12-7-7-10-11-3 9-6-1-7-15

4) Why did the woman name both of her sons Ed?
Clue:4=e
12-4-7-2-10-11-4 3-89  4-5-11 2-6-4  12-4-3-3-46  3-1-2-13  9-13-4

5) Why were the early days of history called the dark ages?
Clue:10=s
16-5-15-4-2-10-5 8-7-5-13-5 6-5-13-5 10-11 14-4-9-12 3-9-1-17-7-8-10
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